P28 A B aIR1%
ROBOT AUTOMATIC QUICK CHANGER

OQC-020SHlgs N Boh iR (F1ER=R)

0OQC-020S Robot automatic quick changer (with sensor)

. ﬁEZOkg; ® Payload capacity 20 kg;
- Ny ® Steel ball lock system;
° *ﬁﬁ%mgiﬁl%ﬁﬁ, ® \With dustproof function;
° Eﬁﬂfjﬂﬁlﬂﬁg, ® Adopt the mechanical self-locking design;

® Prevent separation separation from separating when when source of cut off;

%ﬁﬁ*ﬂ*ﬂfﬁﬁ%ﬁmﬁﬁ', ® PNP or NPN sensoris available.
Fs LE SRS SN BTRS F 95 BS;
AEACPNPENPNIE R225 o

— EERIFA (KN) Connection retention
— #&F 7 (KN) Lifting force

— TEEMR (um)Moment clearance
— BB (um) Torque clearance
60

35
3 50
25 ] 40 j
2
30
15 8
= B 50
2 1] z
~ Z 10
05
o 0 /
' : ’ ’ : ' 0 10 20 30 40 50 60 70 80
0 0.2 0.4 0.6 0.8 1 1.2

HEESEMPa)

OQC-020SER . BF Lk E
OQC-020S Continuous relay, lifting force curve

WIS EL Specifications

AMEEEENERE)Payload capacity

I BEEFEE Positon repeatability

a2 S E AR 5758 Bending direction( Mx.My)

Static allowable torque HBIE 5 Torque direction( M)

PEH (HSE 0.49Mpaf) Tight locking force (When the air pressure is 0.49Mpa)
ZR{K Main body

# & Material » N
KAKERSS BUEMAEBS Locking mechanism

Mainbod "
e MR (8 ERfLock) Housing diameter(Lock when locked)

HLEEAM Robot side
FEREE Product weight

T B Toolside
IFIELEH Disassembling institutions

FREERNESE Disassembling action pressure

BIFIRESIEESBE Allowable temperature and humidity range

1B General BS L Pneumatic port
Hi . - .
Component 1B A General EB {55 = Electrical signal

(%:fe Option)

P fEREEREE MODULE INSTALLATION DESCRIPTION

R IR
Adapter mounting block

ESER(BEERE)
Signal module (direct mounting)
PRIE(R ESBRR(BEEREE )
Quick changer agent Signal module (mounted Via adapter block)

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 32

7% (N.m)

20kg

+0.02mm

5.5N.m

78N.m

2090N

$BEE Aluminum alloy
A& Alloy steel
®90xH53.6mm
0.48kg

0.34kg

SNEREMBIE Steel ball position lock

0.39~0.7MPa(4~7kgflcm?)

OQC-020S=%E . HETuHLE
OQC-020S Bending moment and torque changer curve

0-55C, 0-95%(~45%&No condensation)

M5 x124

2A x19PIN/5A x12PIN

IR AR
Adapter mounting block

SR RER(BIERRE

Gas path expansion module emounred via adapter block)




oPT

P SMEZRT OVERALL DIMENSIONS

M AM: OQC-020S-A

8xM6712

270 2.

Robot side 0 b O d n
%“j%.if;%ﬁﬁ%m 7.03.01.0007 A S [T 9 (e 8 ua] HFFEEEE3I5 (PNPNPN)
iﬁl\f ) Yz 0 0@ N @0 00 stmremszos2s (PNpNPN)
Price [ — I
14-M5
L_1@10v1
90° 124857,
Lo #HSF
U iAFFSEL
@.
2 o
©@=l5
=10
AXPAIRF =
L199.5390°/ | @53 A RS 53.6
40.1 @3-25 (PNP,NPN) IS EES SR
TEM: OQC-020-B
Tool side 4AXQASRE 14-M5
iTERS- 7.03.01.0008 L 1@9.50¥90° 40.1 I_;(leVl
Order number 14T,
21
Price s
©
©
| | &~
=
53.6
MR EE

23.7
|
BN

<r.f
— oo

2xM3V6 2x @4 HT7V6.5

P 225588 INSTALLATION DESCRIPTION

4-M4x35
BE
HeEAFE Robotarm BT M4 FEIERE
‘ EHEA= Connecting flange ‘ Mounting plate tapping M4
teeth Directly installed
D D 2-95x16

tapping M4 teeth

4-M6x25

1 4-M4x35

| RIERK M4 5F

| Flange mounting plate
I

I

I

I

I

ERAATER, RRIR06.537
Connecting fixture fixture, mounting
plate @6.5 through hole

33 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions

I
“
[=e]
205 HTT8
¢ BEEIER
PTL02-19P-IA
PTL02-19P-I-B
ESHER
4xM6T10 =
4xM6T8
) >
SO\ &
S S
-/ |
o D @] <
@) (@)
\4 —
2x@5HT T8
263
60

BSIERESS: PTLO5-12P-1-A
Electrical connector PTLO2-19P-I-A

RUEEBATSHNES
Media through for

EBSEREeE . PTLOS-12P-1-B
Electrical connector P TL02-19P-1-B

pneumatic and vacuum

BARSHEESL: AP.5002000N20

Straight gas connector

LBUSHEL: PL6
L type connector

(X¥),06



	页 20
	页 21

